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QUESTION 1

An organization has onboarded a new business unit whose role is to test the applications 5 days prior to the release
date. The Service Broker administrator should allow a 2-day extension for these deployments before they are deleted
permanently.

Which two options must be configured in the lease policy to meet the requirements? (Choose two.)

A. A maximum lease of 5 days

B. A maximum lease of 7 days

C. A total maximum lease of 7 days

D. A total maximum lease of 5 days

E. A grace period of 5 days

Correct Answer: BC

QUESTION 2

A customer is deploying vRealize Log Insight (vRLI) in their data centers. The customer has the following:
Three data centers in three geographical locations.

Each site has 1000 logging sources that send events to VRLI.

The customer has the following requirements:

Minimize the resources footprint in the management cluster where vRLI will be deployed.

VRLI must be highly available with no single points of failure.

Logs collected from any data center must be protected against site failure.

Which three design decisions would the architect choose to achieve the requirements? (Choose three.)
A. Configure logs forwarding from all data centers to a specific data center.

B. Configure filters to eliminate forwarding loops between vRLI clusters.

C. Configure logs forwarding from each data center to another one.

D. Deploy nine vRLI "Medium" nodes in a single cluster in each data center.

E. Configure filters to forward critical logs to central vRLI cluster.

F. Deploy four vRLI "Large" nodes in a single cluster in each data center.

Correct Answer: ADE
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QUESTION 3

An architect is designing a vRealize Log Insight cluster for an organization with the following requirements:
The organization has an external load balancer available to provide load balancing for various
requirements.

Due to budget constraints the organization need to reuse existing environment as much as possible.

What should the architect choose as the load balancing solution for the vRealize Log Insight cluster?

A. Use the integrated load balancer

B. Deploy a new external load balancer

C. Use the existing external load balancer

D. Use both integrated and external load balancers

Correct Answer: A

QUESTION 4

An architect is designing a vRealize Log Insight cluster for an organization. The organization has the following

requirements:

No requirement for archival data Support a log data retention period of 14 days

How will the log data be handled in this vRealize Log Insight cluster after the 14-day retention period?
A. The user needs to manually select and delete specific old log messages to free up space.

B. Old log messages are automatically and periodically retired on least accessed basis.

C. Old log messages are automatically and periodically retired on a first-come-first-retired basis.

D. A variable sized chunk of old log messages is deleted to free up space based on the data age basis.

Correct Answer: D

QUESTION 5

Which design decision should an architect make to support continuous availability in vRealize Operations?
A. Each Fault Domain should contain only remote collector nodes.

B. The vROps cluster should be separated into three Fault Domains.

C. Each Fault Domain should consist of primary, withness and remote collector nodes.

D. The vROps cluster should be separated into two Fault Domains.
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Correct Answer: D
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